=
<

2 3
¥ (pca tbeamiindf

-+

5

38

)

5107

1072

R L)
B
107 1

2 3
¥ (pca tbeamiindf

CMSSW_CKTPUSU __RECO

[—=— DQM_VUUUI_RUUUU000UT__Global__1

—e— DQM_V0001_R000000001__Global_CMSSW_]| mkFItPUSOLOWPtQuad RECO
—— DQM_V0001_R000000001__Global_CMSSW_LowptQnoSC_REC!

—— DOM_V0001_R000000001 _Global__CMSSW_LowptQnoDC RECO

=)
©
=
C
k)
e
e}
10721
O 1.0
kS
nd
1
.5
107
=
5
5
=
<
=]
o
=
o}

v

e

[ay
o
I8

2 3
TPlp?T (PCA tjbobeamliné'f)

£
S
gN
)
e}
107}
1072
° I j
AT S N SRR S &
g “F %L%Jr i
- | ++
= os—T

L1 e

o
N
=

1

=

o p/p.)

01072

Ratio

15

iy

o

[y
o
I8

2 3
poT (PCA t%)obeamlin%)o

2 3
TPlp?T (PCA tjbobeamliné'f)



	Contents
	Page 1


